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Section B (40 marks) Working steps must be shown in answering questions in this

ZEf (40 &)

31(a).

31(b).

32(a).

32(b).

33(a).

section unless specified otherwise.
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The perimeter is . (Give your answer with a unit)

R E_78m - (FEXFBFHER)

26%x13%9
= 3042
The area of the whole figure is 3042cm?.

26x13x9
=3042
1 B2 ehe f4 £_3042cm” -

89.6+205.2
=294.8
He should pay $294.8.

89.6+205.2
=294.8
s & 1 20$294.8 -

My father should use the voucher in order to pay less.
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228%3+228+2
=798
The four of them should pay $798.

228x3+228+2
— 798
WP 4 E 4 $798 o
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33(b). | They should have the lunch buffet at_Delicious
Restaurant so as to pay less, can pay $ 18 less. |,
B Ek BBl PRV HERS 1
b f’f$ 18 ° 2 3
34(a). 24+(12 — 8)x8 2
=48 2
The perimeter of Figure 2 is 48cm.
24+(12 — 8)x8 2
=48 2
Bl= % B &_48cm - 4
34(b). Parallelogram should be obtained.
TED TiFe ° 2
. 2
35(a). 285+90
=13..-15 2
He can rent a booth for 3 days at most.
28590 2
=3---15 2
5T IR HE 3 X o 4
35(b). | The serial number of that booth was
s Rl 70 - 2
35(c) | He should go in the direction of _southeast
Wl hd w4 2
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36(a).

36(b).
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The differenceis 550
ip&£_ 550 .o 2
Because Tthe sales of fans in April is 250, the sales of
] & fans in May is 500, the difference was
500—250 =250
(Accept any other reasonable explanation)
4R S EE 250507 b g |3
H.500 & 4B A 1 500—250=250(p) *
250>200 3
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